H & 0l & AF S E M A

20188 & 204 LEHSH =™
22X =9
M (SH)FOUXXD|EH 5
@ AxgskH (&2 HA>)
= Xz . CLOl (5 oAl . HAHS oH MEE =t
TH'O&'J‘T‘I(QI}I).HITAI-:I.{EO—I 01'&—- 0:"&.0” HIDLED
=M 662,061 578,756 83,305
(SH)FIXXID| 225t 220,495 217,975 2,520
PADNE=2=PNE-! 80,629 76,569 4,060
OsSHZeEskA 49,230 49,174 56
301 LBrE A3 49,230 49,174 56
058E-01%-HEESELAZ 48,670 48,670 0
Q0| &g 200,000& x14H *143] 39,200
QO &3 2 &G 20,0002 *14% %24 3| 6,720
Obt&E =l 25,0002 *55Y 23] 2,750
09 HALAHIBAZ 560 504 56
QO & &IX| A& 40,0002 *14Y +13] 560
M =29 1,960 1,756 204
201 LBt 1,000 1,000 0
01 At 22| H| 1,000 1,000 0
OgBt==H| 1,000
OgAgs=2d 100,000& 103/ 1,000
301 LEBAS 960 756 204
09 SALAIHIEAZ 960 756 204
ORZ322d 8,000& *30Y 43| 960
FOI=SX XA 10,000 5,000 5,000
201 LBt F| 10,000 5,000 5,000
01 AFR2t2ldI 5,000 5,000 0
odx= 5,000
OstM&g & S72&H| Xt
500,000& *103] 5,000
02 22234l 5,000 0 5,000
O=SXIMHIA XI&XtHe 5,000
O B8z 700,000 +1CH 700
O XsXHAl 100, 0003 = 1CH 100
O HIIMNEZ & 2FYI|
350,000 *1CH*12& 4,200
FUEHL WS 3,594 2,394 1,200
201 LBt 600 540 60
03 A2 FHI 600 540 60
O QI 2ICHSH SHAF2HHI 600,000& 13| 600
I = 2,994 1,854 1,140
09 HAtAHIBAZ 2,994 1,854 1,140
O=0I keIt 3t S42 3,000&*150H*13] 450




2N 28
HE: (28)FLIRRIDIBL 3t
ool MXEEX (Srel: @)
- _ — Pl
SAH - (ZH) - NRAY - BES Ol &4 ‘oﬂ‘&g Hn3s2Z
OMJIZASs Jzus AL BA3
8,0002+180% 1,440
00l Bt EoIAg o BAX BAS
8,0002 69 +23| 1,104
XI & 258 ALK 2 15,845 18,245 A2,400
101 1248 7,845 7,845 0
04 JIAR2ERSE 4 7,845 7,845 0
OSWEH S HMEHAALY 7,845
ORI 150, 0008 58 *52 x23) 7,500
ONEBMTHEE2 7,500,0002 *4.6% 345
206 M2 4l 8,000 8,000 0
01 T2l 8,000 8,000 0
OFESSSAYM M2t 5,000,0002 * 13 5,000
OZEII2H Mt 3,000,0002 * 13 3,000
CE=MIRYSK P 7,600 7,000 600
DE IS HBA 2,000 1,800 200
201 YBr2 Y| 1,500 1,350 150
03 A2 1,500 1,350 150
OHYDE - PIINEX HAI2 L]
1,500,0002! * 18 1,500
301 UBHBAD 500 450 50
09 AN A S 500 450 50
OHYDE - PINEN HIH2AZ
500,0002! *15] 500
e mE 5,600 5,200 400
201 Yere Y| 2,000 1,800 200
03 A2 2,000 1,800 200
OXNAEH 29 500, 0002! *43] 2,000
202 048 1,600 1,600 0
01 2UHoiH| 1,600 1,600 0
CE=MRR0Y 50,0002 *4% x84 1,600
301 LBHE AR 2,000 1,800 200
09 AN A S 2,000 1,800 200
OSS=MDRHAI BAX Pa3
500, 0002! *43] 2,000
W EIEY 83,466 85,706 ~2,240
see 33,427 51,459 A 18,032
101 21214 17,987 36,019 A 18,032
VSIEEESIETES 17,987 36,019 A 18,032
OUUAS QIR (RZOIAKIK) 7,424




SA: =6
Ha: (SO)FIRRDIS 2 S
Cel: AEBEPEY el @ e
- _ - PoRE |
K- 38 a9(3) - HRAY - By S 03] &k o8 St 2
oor=y 60,2402 +12+00 5,422
Oxg+g 60, 24091+ 12 %137 784
SEPE= 60,2408 +12 38 181
o=zl 3,000+ 124%902 270
O4NEEE 6,385, 44021 % 12% 767
OISt AS QIS (HBAXIR) 10,563
OLIE 86,6802 +124 00 7,802
Oxg+g 86,6802 +12* 135 1,127
Oeixt g 86,6802 +124+38 261
OFEE 3,000 *124%902 270
0422 9,183,080 *12% 1,103
201 Lt | 60 60 0
02 222l 60 60 0
oYL A L SHH2EZ 30,0008 *2% 60
206 T 2 15,380 15,380 0
01 M EHl 15,380 15,380 0
ogolrs Y| 15,380,0002! 15 15,380
HAE 50,039 34,247 15,792
101 01 21| 23,839 20,047 3,792
04 JI2H2ZRSES 23,839 20,047 3,792
OFARRIYLE 202 23,839
ool 61,2802 +12+2622 16,056
Oxg+g 61,2802 #1252 3,187
Oeixt g 61,2802 %12+ 102 613
OY = EIH| 2000002 *12%23] 400
0422 19,854, 7202 *12% 2,383
o=zl 10,0002 12 » 122 1,200
206 T2 bl 1,200 1,200 0
01 HEH| 1,200 1,200 0
OMYIIZERHAY ADE 7Y
10,0002 12 1,200
401 Al SIS THY| 25,000 13,000 12,000
01 Al 25,000 13,000 12,000
OFA =4 YATA 25,000,000+ 14} 25,000
O AME 2 48,800 48,700 100
ZOIRXIME HER 48,800 48,700 100
201 Lpr2 e 46,000 46,000 0
01 Akt 2|t] 45,000 45,000 0
CEEER=Y] 6,000




2A: =20

M (SH)FLUXRDIH2 5t
chel: FUXNXMHSSE (ctel:®2l)
- _ — PoRE |
A - EH . S(EH) - MRAY - BaS Ofl a0 e HI DS
OZZIY2Y JI=2AREEH
80,000& *5JH» 128 4,800
Ods & HAEZH| 100,000& 122 1,200
o2g+Y 39,000
O=FUTXAHARAS A=
70,0002 *25H « 128 21,000
OFUXNXME ZT2OH2A A=Y
300,000& x5 128 18,000
02 2323l 1,000 1,000 0
OA&EHlI =Xl 1,000
OFQXXIHE Al4EHI S X
500,000 23] 1,000
202 ¢4l 1,800 1,800 0
01 =L YI 1,800 1,800 0
O=QIXXHH LPFE(2t2)
50,0003 *4H x5 1,000
OFQUXXIHEH LPFE(2)
20,0002 x4F =10 800
301 et ag 1,000 900 100
09 AAAHIE &3 1,000 900 100
OFQU XX HEH & & XA S 1,000,000& *13] 1,000
D Y 136,994 136,080 914
oENe 136,994 136,080 914
o IEZAS 14,094 13,180 914
101 @1 24| 9,594 9,180 414
04 JI2tHZ2ERSES 9,594 9,180 414
OSEHME=XYRY 9,594
ooy 150,000 x5 12 9,000
OF=g=1:] 3,000& x5 122 180
O1ng MHEER 9,000, 000& *4.6% 414
206 = d| 4,500 4,000 500
01 M=l 4,500 4,000 500
OHlZ2.s%.EHIS7Y 300,000& *53] 1,500
OJt=3stEt Z2237¢ 3,000,000 * 14 3,000
72 XS 122,900 122,900 0
206 =4l 2,000 2,000 0
01 MZH 2,000 2,000 0
OLRISMEDIAANS TH=Hl 2,000,000 14 2,000
401 Al & HIZ 2 0HHI 120,900 120,900 0
01 Al&H] 120,000 120,000 0
OAHI2MUE DAY 20,000,000 14 20,000
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2A: =20
Ha: (20)XA

el NGz EiHe (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
OAAZRKNGEIEMNLAS 91,000
OXl=cl Z& & NMAEUISA
13,000,000 *14] 13,000
Ostel Z2& 2 MAEUISA
13,000, 000& 14! 13,000
Odlsel =& 2 MAEHISA
13,000, 000& * 14! 13,000
Ooerdlel =& & MAEEUISA
13,000, 000& *14] 13,000
Oseel 2 & MAEUISA
13,000, 000& 14! 13,000
O=2el =& 2 MAEEHISA
13,000, 000& * 14! 13,000
Olgel =& & NMAEEUISA
13,000, 000& *14] 13,000
OXl=el SFH| 9,000, 000& 14! 9,000
03 AlE 20| 900 900 0
OXNATEHIMLAS 20HbI
100,000, 000& *0.90% 900
HHE2IAL(SH) 304,572 224,701 79,871
oI 2 A 107,187 65,530 41,657
eI 2 A 107,187 65,530 41,657
101 2124 4] 107,187 65,530 41,657
01 2= 42,974 33,453 9,521
QAlt2 22+ 42,974
(OL= 11,0742 x4 B «30 Al 2H+ 128 15,947
Or= 10,0033 *»4 B «30A| 2t+ 123 14,405
OL=] 8,980 3 *x30A| 2+ 12& 9,699
092 8, 1173 1Z+30A 2+ 12& 2,923
03 RINHA2ZZNHE = 64,213 32,077 32,136
(OFSENel gt 64,213
oJies 1,489,060& x2H «12& 35,738
(ORI 1,489, 060& x2H *43| 11,913
OgE S| 500,000& x2ZF *23| 2,000
ONEELEA
10,800 x2H » 150%* 15 Al 2+* 123 5,832
O X< 10,800 x2H *8A| 2+* 12 2,074
ORYzLLY
10,800 x2ZH *BA| 2tx150%+ 1H x6 1,556
OF === 40,0003 1«12 480
Qus2 x| 50,000 x2Z x12& 1,200
OFHZ A 70,0002 x2H 122 1,680
Q= 150,000& x2ZH x 13 300
OF == 30,0002 x2H12& 720
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SN S0
B AHSAAH (SH)
chel: olzi2ey) EERED
SA B ER(S) - MRAE - BaS Of &r e HIDE
| | ORlMag 30,000 x2& * 128 720
Jl=ddl 197,385 159,171 38,214
Jl=34 197,385 159,171 38,214
201 et 150,445 104,311 46,134
01 At22t2l bl 61,350 37,616 23,734
Oget=2H| 23,860
OZN2d=2Hl 300,000& 128 3,600
OJIEMNRESHI 250,000 123 3,000
O SAA T 150,000& 123 1,800
Ou=z & EXNR=E=2 150,000& 123 1,800
OLEZSHIHENE 50, 000& *504 2,500
OEU R 420,0008 + 122 5,040
OSOIBHIAAY 8A42R
450,000 =122 5,400
OZEB2I(X2UA|) BA+4E
60,000 = 12& 720
o=2g=+¢ 13,330
Og Al 50,0003 »119& 5,950
O=2H] 30,000& 246 7,380
O= gl 4,160
Oort2 2 s sS4l 8,000& x13H 402! 4,160
OHX MEH 2 2IMb] 20,000,000% 14! 20,000
02 5323l 89,095 66,695 22,400
022232 < XA 62,300
O&IIRS 4,200,000 =128 50,400
OIS (=23 ) 500,000& 123 6,000
Otlaseuxss 150,000& 12 1,800
OXNZNIATAMREESS 460,000& 52/ 2,300
OJIEtEE2= 2 WA 150,000 122 1,800
(©feiN=d.] 4,795
Odeg)| Azl 1,370& 3,500 £ 4,795
OAN&FISTbI 4,000
AN & ANEEHI =X 500,000& +82] 4,000
OXt & et 18,000
OXt& KA 500,000& «3CH+12& 18,000
202 o4l 34,400 33,900 500
01 S LHO B 3,200 2,700 500
OSIEA o HOYREZR 50,0002 «82 8L 3,200
02 NN 31,200 31,200 0
OEHNOHI 200,000 x13H 128 31,200
203 2=l 9,540 9,460 80
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